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1,500

400
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20,000

5,000
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8,400

3,600
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Off &t 24

10,000
5,000
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5,000
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AN sg€II=4dH
MY =ENE
Sl MEIERY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 95,000 35,000 60,000
O=ZoHol &0 |4 35,000,000 14! 35,000
= 17,500
Al 17,500
O=2Ne 28 ISSH 84 AY
60,000,000& =14l 60,000
= 30,000
Al 30,000
SENZAESTAIAGE (M) (HEAY) 50,000 50,000 0
< 25,000
Al 25,000
307 21201 A 5,000 5,000 0
< 2,500
Al 2,500
02 LB AAFEX 5,000 5,000 0
OS&0{24 SNAH AY
5,000,000& 104 & 5,000
< 2,500
Al 2,500
402 RIZ2FXt20l ™ 45,000 45,000 0
< 22,500
Al 22,500
02 RIZEXt 2 AL EZ (01T ) 45,000 45,000 0
Os&Edzd XA Al
45,000,000 104 & 45,000
< 22,500
Al 22,500
sge An2EHI=XA 100,000 0 100,000
as 50,000
Al 50,000
402 RIZEX20l ™ 100,000 0 100,000
s 50,000
Al 50,000
02 RIZEXt 2 AL EZ (OIS ) 100,000 0 100,000
Osgeol 4An2 FdJI=X&
100,000,000& * 19 A 100,000
s 50,000
Al 50,000
SOOI BSALH AL FHIINS (X&) 100,000 100,000 0
< 50,000
Al 50,000
402 RIZEX20| A 100,000 100,000 0
< 50,000
Al 50,000
02 LA TEALEZ(0IETHR) 100,000 100,000 0
OsYUISAILEZ AL EZHIHA
50,000,000 «2J4 A 100,000




2N
X ZH -
L= B

el

0% Of O
i iy 09
P
My o >
z

@

S

Mo
02

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 50,000
Al 50,000
SENZEBEINEsES 100,000 0 100,000
s 50,000
Al 50,000
402 2I2HXHE01 M 100,000 0 100,000
s 50,000
Al 50,000
02 QI EAISEZ (01X THS) 100,000 0 100,000
O +2 018 LEAE(FE,88) ME
50,000,000& =14 2 50,000
s 25,000
Al 25,000
Otlssts s% 50,000,000 * 104 2 50,000
s 25,000
Al 25,000
sIAH2Z 2,075,995 2,152,290 AT6,295
= 332,500
= 50,300
Al 1,693,195
SO H ALY 1,275,995 1,461,704 A 185,709
101 @124 dl 322,207 362,084 N 39,877
03 RIAHAZZ2TE = 2,500 1,500 1,000
oul=l 250,000& x5 #23| 2,500
04 JIZHHZ2Z2XNSE S+ 319,707 360,584 AN40,877
OsJIHYUAERY JI2HH (J1s) 2] 180,324
=2 88,7503 x6H x229! 121,943
AR al=t 88,7503 x6H x50 31,418
sL2RHE 88,7503 x1.5x6% 30 23,963
o=l 250,000& x12H 3,000
OsJIHLUAME2E JI2HH (L)l 4| 139,383
2= 69,7603 x6H x229 95,851
sEsdsE 69,7603 x6H x50 24,696
e =] 69,7603 1.5x6H 30 18,836
201 Let24d| 171,288 149,120 22,168
01 At 22/l 27,000 28,200 A 1,200
OsIIHY ALY At 22l bl
6,000,000 =44 2~ 24,000
OsJIAHYl 8&F&J o=l
250,000& x6H #23| 3,000
02 =24l 144,288 120,920 23,368
OYUi=sLYINH B2 50,000
OdUiAE A HY RS2 900,000 *4JH & 3,600
OYUAIE A EIIAEZ 1,700,000 « 1204 & 20,400
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A sgI=HH
Hu: sEFE
SR RPIPTES- (S &2)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
OsYIIHRZ(13CH), &8I (501) 282 € 8
Xl 22l gl 32,000
OU=sgIH 29 322 (EFSR)
1,160& x1,2002| & 400 & 5,568
OU=sgIH 887U (8YR)
1,360& x5002| Ef 404 & 2,720
OLU=YINH MASH D2l
500, 000& *60CH *13] 30,000
206 M = Hl 167,500 185,500 A 18,000
01 X Z H| 167,500 185,500 A 18,000
OdU=gIlNH 28 227Y
180, 000& =450CH *23] 162,000
OYdUAMNYg 29 B231272¢ 275,000 x20& 5,500
405 XHAHFEIEHI 615,000 765,000 A 150,000
01 AL 2B F S| 615,000 765,000 A 150,000
OW=ds 2 2 D& sIJAH A 2L 600,000
OLEXE XAE OIRECA
10,000, 000& = 1CH 10,000
OFE0I &8 =] 5,000, 000& = 1LH 5,000
SIHUYHAGE A LS HY WA XS 77,700 95,000 A 17,300
& 23,300
Al 54,400
405 XHAHF S HI 77,700 95,000 A 17,300
= 23,300
Al 54,400
01 XAt 2 ZF S| 77,700 95,000 A 17,300
OsJIH S &d M= 77,700,000 * 14! 77,700
& 23,300
Al 54,400
JIH MBI AZSH 27,300 59,986 N 32,686
101 21 214| 21,300 20,986 314
04 JIZtHI22XNSE S 21,300 20,986 314
O=sgIIAH =32l oAl
88,750 x2H 120 21,300
206 M = dl 6,000 6,000 0
01 X2 bl 6,000 6,000 0
Ox3xcels sI/H 2237 30,000& 1008 3,000
O=3%cl& sJ/H 23727¢ 300,000&*10= 3,000
Il HESH A 18,000 50,000 A 32,000
301 et A= 18,000 50,000 A 32,000
12 JIEtE2 A= 18,000 50,000 A 32,000
OsJIHLNE (A" HEIHHBFASE DE S)
ZOLE At 400,000 *90™H *50% 18,000




AN sg€II=4dH
MY =ENE
@ sIAH2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S ¢t s XL 12,000 20,000 A 8,000
2 6.000
Al 6,000
201 £B-2d| 1,300 1,500 A 200
= 650
Al 650
01 At 22/l 1,300 1,500 A 200
O=sglIH 8Z4d2ns 249 130,000&+105 1,300
= 650
Al 650
202 044l 1,000 1,500 A 500
= 500
Al 500
01 = LH o4 1l 1,000 1,500 A 500
OsgJIH dRUs HAX A8
100,000& 10 1,000
= 500
Al 500
206 2 I 7,500 10,000 A2,500
= 3,750
Al 3,750
01 MHZ 4l 7,500 10,000 A 2,500
OsgIIH 8FERUE e 7Y
150,000 x50& 7,500
= 3,750
Al 3,750
301 LeBA S 2,200 7,000 A 4,800
= 1,100
Al 1,100
09 #HALAHIXI &3 1,600 5,500 A 3,900
OsgIIH ERUF ot N&
8,000& 200 1,600
= 800
Al 800
12JIEB243 600 1,500 A 900
OsgIIH SEAERUST A+
300,000 23| 600
= 300
Al 300
Hezsa=sIH 2LRE 140,000 140,000 0
= 70,000
< 21,000
Al 49,000
405 RHoHE S HI 140,000 140,000 0
= 70,000
< 21,000
Al 49,000
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A sgI=HH
MY =ENE
e sIH2Y (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AL 2 ZF S| 140,000 140,000 0
O8I sIAH F¢ 140,000
= 70,000
o= 21,000
Al 49,000
NEE sHIAH XS 53,000 116,000 A 63,000
= 26,500
Al 26,500
405 XH&HE S 53,000 116,000 /63,000
= 26,500
Al 26,500
01 AL 2B F S| 53,000 116,000 A 63,000
OsgEEdH(EAE) 7Y
44,000,000 =1CH 44,000
= 22,000
Al 22,000
OsatSE)|8)| 2 9,000,000 =1CH 9,000
= 4,500
Al 4,500
CESsIIHMH 200,000 0 200,000
= 100,000
Al 100,000
405 XHo&HF S HI 200,000 0 200,000
= 100,000
Al 100,000
01 AL 2 FF S| 200,000 0 200,000
OLESJIAHUM & 200,000
= 100,000
Al 100,000
AR L 2D AH S 200,000 200,000 0
= 100,000
Al 100,000
405 XHAHFI S HI 200,000 200,000 0
= 100,000
Al 100,000
01 XA 2 E F S| 200,000 200,000 0
OF X 2D H S A 200,000
= 100,000
Al 100,000
SHAIISAMBE (sHIIAH) 60,000 0 60,000
= 30,000
Al 30,000
402 212t X 20| & 60,000 0 60,000
2 30,000
Al 30,000
02 QX E A E X (0| XM THS) 60,000 0 60,000




AN sg€II=4dH
MY =ENE
SR RPIPTES- CERED
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OloT sJIH nstd & AADZX 28 Jli=
A" 60,000,000 =14 2 60,000
= 30,000
Al 30,000
NS M2 2L (sIH)(HE) (HEAY) 12,000 0 12,000
< 6,000
Al 6,000
301 LEd = 12,000 0 12,000
< 6,000
Al 6,000
1224 = 12,000 0 12,000
O=9g C2 d2 NAZY SN
1,500, 000& *8H 12,000
< 6,000
Al 6,000
[ERSPNR] 6,199,637 7,147,128 A Q47,491
= 1,587,350
s 100,000
< 202,000
Al 4,310,287
2 2,893,121 2,477,859 415,262
= 74,650
s 100,000
< 62,500
Al 2,655,971
DEZAMA 27,807 40,748 A12,941
101 @124l 10,047 8,248 1,799
04 JIZHHZ2Z2XNSE+ 10,047 8,248 1,799
Ol E3Y HlW AIEIE 29 A2 (M) 10,047
s 69,760 x3H 402 8,372
AR Ral=4 69,7603 x3H 8 1,675
201 ¢er24| 2,000 2,000 0
01 At 22l 2,000 2,000 0
OAaE s ¥ WM M 500,000& *4F 2,000
207 RO 12,300 27,100 214,800
03 A& &2l 12,300 27,100 A 14,800
OH S3E HlW AIgd? Mg+
410,0003 x10E 304 & 12,300
301 LEAS 3,460 3,400 60
09 HALAHIXI &3 3,000 3,000 0
OMZRE DS BARNS
20,000& *30H x53] 3,000
12 JIEE4 3 460 400 60
OAlgXE s A=Y 230,000& »23] 460
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HolESSEXHI =X 2,341,775 2,268,135 73,640
402 2I2H X201 M 2,341,775 2,268,135 73,640
01 2I2E 2 A B (RERTH ) 769,700 794,700 A 25,000
O dals MEZH(S24 MelH) X
180,000& #8,552.22ha*50% 769,700
03 212t &AL S HI 1,572,075 1,473,435 98,640
OH dois g32HM X 1,572,075
SSEM 2H E HH XA
195,000& %15, 300ha*50% 1,491,750
SN 24 X&
105,000& *15,300ha*5% 80,325
HedEslisa 49,238 59,145 A 9,907
101 @124 dl 33,038 42,645 A 9,607
04 JIZtHZ2XREES 33,038 42,645 A 9,607
OBSISAUSY (MBI GFL2HA) oI
=l 33,038
== 69,7603 x2H » 186 25,951
resgsE 69,7603 x2H 492 6,837
o=l 250,000 1 250
201 Let2d] 16,200 16,500 A 300
01 At 22l 1,200 1,500 A 300
OZs8THLESINE SEIsH 22 M=
-2 120,000 103 1,200
02 2324l 15,000 15,000 0
OZgllsd RAE=H 750,000,000 *2% 15,000
sdedIsAYg(HeEd) 50,000 0 50,000
= 25,000
Al 25,000
402 RI2EX 20| ™ 50,000 0 50,000
= 25,000
Al 25,000
02 QI 2 AL EZ(OI X TH ) 50,000 0 50,000
OZ THHH dtE J1H S & ==2e| Jl=
A" 50,000,000& =1EH X 50,000
= 25,000
Al 25,000
TeEdzcld 2H(EY) 29,000 29,000 0
= 14,500
Al 14,500
201 Let24d] 5,000 0 5,000
= 2,500
Al 2,500
01 At 22l 5,000 0 5,000
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AN sg€II=4dH
PSR B PSON R
el N2E (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEY M DTz 2 5,000,000& = 1CH 5,000
= 2,500
Al 2,500
207 RO 24,000 29,000 A5,000
2 12,000
Al 12,000
03 A& &2l 24,000 29,000 A5,000
OEYAWA 29 NEHT HE 7
8,000& x1,875& 15,000
= 7,500
Al 7,500
OMEZE ¥ F8 24AY 2 e +
200,000 *20 & 4,000
2 2,000
Al 2,000
OSdg oHEM 2AA% 2 2 7Y
200,000 »25& 5,000
= 2,500
Al 2,500
EYHNES 2FE 2F N2 6,300 6,300 0
= 3,150
Al 3,150
201 Let2d] 2,050 2,050 0
2 1,025
Al 1,025
01 At 22l 2,050 2,050 0
Odolls 222 24 102,500& 208 2,050
2 1,025
Al 1,025
202 Odl 2,000 2,000 0
= 1,000
Al 1,000
01 = LH 4 Hi 2,000 2,000 0
O8dis 2ZFE MISIA L HHHSEZAM O]
20,0003 x5 20 2,000
= 1,000
Al 1,000
206 T 24 2,250 2,250 0
2 1,125
Al 1,125
01 M= 4l 2,250 2,250 0
Oddis 22X 22 Mg +#
150,000 158 2,250
= 1,125
Al 1,125
sHSHols ddty 29 N 18,000 18,000 0
= 9,000
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2N
X ZH -
L= B

el

% 5 - (A
- B(EN) - NRAY - B S e

Al 9,000

B2 Al 1,800 1,800
= 900
Al 900

FS 2 el 1,800 1,800
sHsgdls ddy 2F 200,000& 98 1,800
= 900
Al 900

W HI 12,200 6,200
= 6,100
Al 6,100

gl 12,200 6,200
Oddils oE JI2ME +&  620,000& 108 6,200
= 3,100
Al 3,100
X 0= Mz 72 250,000 *4 4 1,000
= 500
Al 500
OZXMEIN Mg 7 250,000& *8H 2,000
= 1,000
Al 1,000
golls M JE 2 300,000& 1038 3,000
= 1,500
Al 1,500

F sl 4,000 10,000
= 2,000
Al 2,000

LESFHSH 4,000 10,000
0/& daEd 2 3,200,000& 1set 3,200
= 1,600
Al 1,600
OZXMHEI +& 800,000 14 800
= 400
Al 400

RS Y (Hsey)(Me)(MeAd) 125,000 0
= 62,500
Al 62,500

X201 A 125,000 0
= 62,500
Al 62,500

AL EZ(0IEHSA) 125,000 0

CEEZE 2 s gHIIsEs AEY

50,000,000 = 1&H X 50,000
< 25,000
Al 25,000
oM A A BETI K& A 100, 000& *500ha 50,000
< 25,000
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AN sg€II=4dH
PSR B PSON R
el N2E (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 25,000
OW 28 5= ANEH BEIE 224
H 25,000,000& = 1EH X 25,000
< 12,500
Al 12,500
IEE2R B £ 46,001 50,601 A 4,600
2 23,000
Al 23,001
101 @14 Hl 18,139 16,493 1,646
= 9,069
Al 9,070
04 JIZHHZ22XRHEES 18,139 16,493 1,646
OJEEL 245 =8 oy 18,139
2= 69,7603 x1H 216 15,069
= 7,534
Al 7,535
=t 69,7603 *1H 442 3,070
= 1,535
Al 1,535
206 M= Hl 4,862 0 4,862
= 2,431
Al 2,431
01 MHZ 4l 4,862 0 4,862
ST 2T M2 4,862
= 2,431
Al 2,431
405 XtAtE SHI 23,000 10,100 12,900
= 11,500
Al 11,500
01 AR ESFH S 23,000 10,100 12,900
O&EE d& ASE 8,500,000 = 1CH 8,500
= 4,250
Al 4,250
OflYHlE=s 4224 8l Fl
4,500,000 = 1CH 4,500
= 2,250
Al 2,250
OdLter X AlAE 10,000, 000& * 14 10,000
= 5,000
Al 5,000
SIS SEXNCIIVEL(RES) 200,000 0 200,000
s 100,000
Al 100,000
401 AIEHIZL 2 CHEI 41,000 0 41,000
s 20,500
Al 20,500
01 A& Hl 41,000 0 41,000
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fAM: sgIlsdH
PSR B PSON R
el X2 E (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OOt HES THEl 24 B3 At
41,000,000& =14 41,000
s 20,500
Al 20,500
405 XHoHF S HI 159,000 0 159,000
s 79,500
Al 79,500
01 XL 2 ZFH S| 159,000 0 159,000
OXE S22l =4FH ¢ 128,000
o d224) 2 38 128,000
s 64,000
Al 64,000
O0l¥S HHHE ZHHFL 18,700
=&+ NEZEX S 33 18,700
s 9,350
Al 9,350
Ootgiza &HH 7 12,300
=23) & 28 12,300
s 6,150
Al 6,150
A== 1,013,669 974,320 39,349
= 358,700
< 89,500
Al 565,469
Aoaol=23 81,500 134,800 A 53,300
207 A RO H| 2,000 2,000 0
03 A& &2l 2,000 2,000 0
OD4s0t AEAH7 U B2 29
200,000& 1035 2,000
301 LPEHF 7,000 7,800 A 800
09 HALAHIX &S 7,000 7,800 A 800
OJWEZ Milsgel s FATXA
700,000& x 103l 7,000
402 QI2EXt20l ™ 72,500 125,000 252,500
01 Q12 X2 AF 2 2= (REXIXH &) 72,500 125,000 A 52,500
OHLTAHKS 22 AWMM I|2E3
50,000,000& » 1+ Xl *50% 25,000
OA AHE S22l Jl=Ad
60,000,000& » 1 &+ XI *50% 30,000
OzNEHE UHFHX =4
35,000,000& » 1+ Xl *50% 17,500
AQLEE=sXNE HAFRS 8,800 8,800 0
201 LBH2I | 6,800 6,800 0
01 At 22l 2,000 2,000 0
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AN seIIsHE

3N J¥NE
el HuEEeg

_ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OAE=sY HAEHE nsd 29
200,000 x10= 2,000
02 2224 4| 4,800 4,800 0
OANESsY HAEHE NSEE HH KX (MY
e, M AEH 22, A HUAIRE §)
400,000 x 1204 & 4,800
405 KHoHFE S HI 2,000 2,000 0
01 JHAY 2 E F S H 2,000 2,000 0
OANEsY HAHWE & ™AEH 2L
1,000,000 x2= 2,000
20 FHMELS 25,969 28,560 A 2,591
101 2121 H| 9,069 7,560 1,509
04 JI2ZtHIZ22NEE 9,069 7,560 1,509
OJI2H3IE 2t2F ASE X4 olAHH|
69,760& 12 »30 2,093
OALE XA 21 A4H| 69,7603 1 x100L 6,976
201 et 5,900 6,000 A 100
01 AFR 2t 2| bl 1,000 1,000 0
OANE224 29 ANS8E 7Y
100,000& x10& 1,000
02 2%l 4,900 5,000 A 100
LR ABE SETY(ZR)
1,400& *3,5002| & 4,900
206 M = Hl 11,000 15,000 A4 ,000
01 X2 4l 11,000 15,000 A4,000
OAMZ24 BI2E AZE X4 H272Y
200,000& x10& 2,000
OAZS24 MHEX & SIIAAE DM MHE
- 3,000,000 =14l 3,000
OAM=z24 H=EMNM M2
6,000,000 =14l 6,000
SHZYNSH L HAS 81,400 75,400 6,000
= 40,700
Al 40,700
307 QI2t0| ™ 81,400 0 81,400
= 40,700
Al 40,700
02 QI2tAAMAIE E =X 81,400 0 81,400
O=s&2 gaols 2 Ml 81,400,000 x1EHX] 81,400
= 40,700
Al 40,700
SHAISABE(RFUES) 576,000 360,000 216,000
= 288,000
Al 288,000
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AN seIIsHE
3N J¥NE

ool HUNESY (298 R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
402 QI2H X201 A 576,000 354,000 222,000
= 288,000
Al 288,000
02 QI EASEZ (01X ) 576,000 354,000 222,000
O2HlEdsE 228 S48 MY
200,000,000& *1&H X 200,000
- 100,000
Al 100,000
ONEXS UE 24 L ZYI(2HH2 SAl)
AAEDAY 26,000,000& = 1&H K 26,000
= 13,000
Al 13,000
OQANEERS == #Zd JI==23AE
100,000,000 1 X 100,000
= 50,000
Al 50,000
ORelEE ML =4
250,000,000& *1&H X 250,000
= 125,000
Al 125,000
NS B2 (B0 (M &) 155,000 226,000 AT71,000
< 77,500
Al 77,500
402 212t X 20/ & 155,000 226,000 AT1,000
< 77,500
Al 77,500
02 QI EASEZ (01X ) 155,000 226,000 A 71,000
OJIZHs (HE sgols S22
25,000,000& = 1EH X 25,000
< 12,500
Al 12,500
ORUHERZO0L HESEE AY
70,000,000& *1&H K 70,000
= 35,000
Al 35,000
OF=E JI=Ha s MASHE 2= AY
60,000,000& *1&H K 60,000
< 30,000
Al 30,000
SMHELETAEZA 9,000 9,360 A 360
= 9,000
202 O4dl 3,000 3,120 A 120
= 3,000
01 = LHA YI 3,000 3,120 A 120
Osd28 AST A=A 0l
20,0003 *x23| *39= It 1,560
= 1,560
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2N

SIS dH

M HEHEXE
ool NS Y CERED
_ = (o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ORSI=H ZAN=H 070
20,000 *23| *36= Jt 1,440
= 1,440
301 et A= 6,000 6,240 A 240
= 6,000
12 JIEtE2 A= 6,000 6,240 A 240
OsdE ASE XA 24 sIHAA 2
40,0003 *23| *39= It 3,120
= 3,120
OZ3LGINEH ZANE2H SIHAHA 2
40,0003 *23| *36= It 2,880
= 2,880
AEXNZS 20| =AY 24,000 62,400 A 38,400
= 9,000
Al 15,000
402 BI2H X =20l M 24,000 62,400 A 38,400
o=t 9,000
Al 15,000
02 CIZEXIEAISE X (0| XM THL) 24,000 62,400 A 38,400
ODNEZ 2 TG MAAY
30,000,000 = 1&+X| *80% 24,000
& 9,000
Al 15,000
sLHMHE Bs2AH 10,000 10,000 0
= 3,000
Al 7,000
402 SI2vXH=20| ™ 10,000 10,000 0
o= 3,000
Al 7,000
02 QIZEXIEAIS E X (0| XM THL) 10,000 10,000 0
OsYadls &M dlols B2
10,000,000 *1JH & 10,000
== 3,000
Al 7,000
HEsYO sz JIAY 24 ALE AIY 6,000 9,000 23,000
= 3,000
Al 3,000
201 2Bt | 6.000 1,000 5,000
= 3,000
Al 3,000
01 AP 2t 2| bl 6,000 1,000 5,000
OFUs0 YN 24 2AME 29
600,000& x10H 6,000
= 3,000
Al 3,000
ssEszels 29 () 36,000 0 36,000
= 18,000
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AN seIIsHE
3N J¥NE

ool BoNESY CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 18,000
201 L2l 3,000 0 3,000
= 1,500
Al 1,500
01 At 2t 2l 3,000 0 3,000
Olt=AEE 24 500,000& x6& 3,000
= 1,500
Al 1,500
206 = Hl 8,000 0 8,000
= 4,000
Al 4,000
01 MHZ 4l 8,000 0 8,000
OL==AlEE 298 ME 72  500,0008 168 8,000
= 4,000
Al 4,000
405 XHoHF S HI 25,000 0 25,000
= 12,500
Al 12,500
01 AL EZFH S 25,000 0 25,000
Ot & - & - d&E 5 SEAA Fol7e
,000,000& «3& 12,000
= 6,000
Al 6,000
Ol Holls 23 018 +¢
6,500,000& 28 13,000
= 6,500
Al 6,500
SH==s4 820,221 902,768 A B2,547
= 64,000
< 30,000
Al 726,221
MIISASAEE 81,388 79,113 2,275
101 @14 dl 32,788 30,513 2,275
04 JIZHHZ2XNHEE S 32,788 30,513 2,275
O&SICHAH MR A4k JI2bH Q1 24| 32,788
=2 69,7603 x2H «186< 25,951
FesgdsE 69,7603 x2H x40 6,837
201 LBt2E| 20,100 20,100 0
01 At 2t 2l 1,000 1,000 0
OMZXt dSANEE 2 100,000& 1035 1,000
02 =24l 19,100 19,100 0
OMZAH M Ald22] ¥ SAUH(RAY
dE =LA M2 ME D) 12,000
1,000,000 1200 &




sgJlsdH
Y
SEEEETE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O4ZT NEEZHE, dEF FH RIE=S
500,000& 108 5,000
OMBANEE 29 R52(ZR)
1,400& x5& *3002| & 2,100
206 M= Hl 28,500 28,500 0
01 M= 4l 28,500 28,500 0
OMZ NEEF 2% HMTY(25I17,0I1%
M, s HlZ) 750,000& x10& 7,500
ONRTHH NZA M8 4EFY
7,000& x3,000%Z 21,000
ENESY, [ ol 3 13,372 13,247 125
101 @124l 8,372 8,247 125
04 JIZHHZ2Z 2RSS E S+ 8,372 8,247 125
OXZHLA 2 21Hdl 69,7602 «1H 120 8,372
206 M= Hl 5,000 5,000 0
01 =4l 5,000 5,000 0
OFXULD Mot ALY AltPY
400,000& x5& 2,000
OXAHHLZ ek JIXNHMHFE  100,000& x10E 1,000
OZXBYD M& OJtetE 7
500,000& x4 & 2,000
F8 WNZA daDg 2= 225,352 248,924 N 23,572
101 14 dl 13,952 13,744 208
04 JI2ZtHZ22HEE =+ 13,952 13,744 208
OZSMNLN 235 HE =g
69,7603 x20H 10 13,952
201 LBt 3,000 3,000 0
01 At 22l 1,000 1,000 0
OMZ X o2 AR 22|l 100,000& 105 1,000
02 =24l 2,000 2,000 0
O&EJIetA 2teltl 500,000& »24! 1,000
OAgtdEd 22l 500,000& »24! 1,000
207 RO 57,000 69,200 A 12,200
03 Al & 2 HI 57,000 69,200 A 12,200
OZMZXt Hiolets 33 JIEFY
250,000& 4Nl E 1,000
OZSMNZ R Mak AZ W2EXE 22 (& XH/20kg
) 35,000& *1,6004 Xt 56,000
301 LA F 16,400 18,480 A 2,080
09 #HALAHIXI &3 800 3,080 A 2,280
OZSMZ A ditsgel =
8,000& x50H »23] 800
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FM s
X RH: &
L= B ("
o°el: s

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
12JEEd= 15,600 15,400 200
OZESMNZ A Motz us ZAt=E
300,000& x23| 600
OZESMNZ A datsol s K&
15,000, 000& 14! 15,000
401 A& HIZ 201 Y] 16,000 46,000 A 30,000
01 A& HI 16,000 46,000 A 30,000
OMZT AZAEE =8 I8 U AL2S
11,000, 000& 14! 11,000
O3 M2AOUHEANE sS4 HHE &X
5,000,000& =14l 5,000
402 QI2HAHE01 M 119,000 95,000 24,000
01 2I2EH 2 A B (KR ) 119,000 95,000 24,000
OZSMNZ A tFMA THTHPY X AS
70,000,000& =1+ Xl «50% 35,000
OZESMNZ R M STA XA
60,000, 000& *1Ek Xl *100% 60,000
OFEMNZ R AFMASIH SGHRA X KIS A
A 8,000,000& x64! x50% 24,000
2ol e M et 74,116 98,694 A24,578
101 @124l 17,791 18,694 A 903
04 JIZHHNZ2XNSE+ 17,791 18,694 A 903
O=23=M 2el JIZNIZ2A B+ 16,395
== 69,7603 x1H » 186 12,976
mresgdsE 69,7603 1 492 3,419
O2llzgsdas =32 A 21 £ &
H erey 69,7603 x 108 *23| 1,396
201 €24l 6,000 8,000 A 2,000
01 At 22l 6,000 8,000 A 2,000
Ouasdas ZstzMus FUHAS
6,000,000& x13] 6,000
206 M= Hl 23,625 31,500 AT,875
01 M= 4l 23,625 31,500 AT,875
Ouasdas =2 7
7,000& «38+75H 153 23,625
301 LA F 11,700 15,500 A 3,800
09 SALAHIX A S 4,500 7,500 A 3,000
O2lzsdes s AN
20,000& »75H 1,500
OdieasMas 2N FHANIA
5,000& 753 82 3,000
12 JIEHE4 = 7,200 8,000 A 800
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fAM: sgIlsdH
Ha: HHX
Sel: SaE=sY CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ORl2sdes 2 MHus ZA=E
300,000& x2H x123| 7,200
401 Al& Bl 28I 15,000 25,000 210,000
01 A& HI 15,000 25,000 A 10,000
O=s=2M dAME &X 15,000,000& * 104 2 15,000
TEE DMSHeA 2 216,282 250,439 A 34,157
101 @124 dl 49,182 56,489 NT,307
04 12t Z2XREES 49,182 56,489 ANT,307
OZESZ0IMELA JIZHI 2 = 49,182
2= 69,7603 x3H x186 38,927
s+ 69,760 x3H 492 10,255
201 Let24d] 22,000 23,000 21,000
01 At 22l 7,000 8,000 21,000
OlDlMSHHLA AERESS2Y 200,000& 102l 2,000
OlMEHHY =22 ¥ WMHHMZE
400,000& x10& 4,000
ODlMSHI S i 2422
50,0003 x5& *43| 1,000
02 3322l 15,000 15,000 0
O0IMEHH & AIZZH KX
600,000& »203l 12,000
ODMSHH A S (MY Ao, 3HA) 3,000
206 M= Hl 144,500 149,750 N5,250
01 =8l 144,500 149,750 25,250
OlDlM=SHHY 78 BHAI 2 500,000& 2502/ 125,000
O0MESHH LA A8 M= L AMAF
900,000& 108 9,000
ONMESHY TR (52EHE)
350&30,000& 10,500
301 LBEAZ 600 1,200 A 600
12 JIEtE &= 600 400 200
O0ME AE =82 g ZMrH
300,000& =23] 600
Ss&=E Jls B2 3,000 3,000 0
301 LEAF 3,000 3,000 0
09 HALAHIXI &S 3,000 3,000 0
OSst&s 4l U=
20,0003 309 *53] 3,000
NEEstsHl)=F32sdX 26,711 24,351 2,360
= 4,000
Al 22,711
101 14l 26,711 24,351 2,360
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SH: sYIlE M
M HEHEXE
Sel: SaE=sY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 7,000
Al 22,711
03 RIAHA*ZZ2XE S 26,711 24,351 2,360
OXNEEs s8Il FE5 A 26,711
ez 1,850,200 x 1 1200 & 22,203
= 4,000
Al 18,203
o D82 Al 72,632& x10& 727
HEMHZ 1,110, 120 x23| 2,221
= A| 130,000 x 1200 & 1,560
KNAESEAZ N2 B EL (ESE2)(HE)(HEAIY) 60,000 120,000 A 60,000
& 30,000
Al 30,000
402 12t XHE0| & 60,000 120,000 A 60,000
& 30,000
Al 30,000
02 X2 A E X (0| & THS) 60,000 120,000 A 60,000
ORel ARNWYIs HHXNS = AlY
60,000,000 x 1Al 60,000
& 30,000
Al 30,000
SHAISABE(EFEZ) 110,000 55,000 55,000
= 55,000
Al 55,000
206 TH 2 HI 20,000 20,000 0
= 10,000
Al 10,000
01 X2 Hl 20,000 20,000 0
OE&Jls DM 22 Mad S Jls MeE
2 20,000 *1,0003] 20,000
= 10,000
Al 10,000
402 SI2F 20| & 90,000 35,000 55,000
= 45,000
Al 45,000
02 BIZtXIEANYEX(OIETHH) 90,000 35,000 55,000
Odt2 EAXNSAE L EHMESANALE B3
A& 70,000,000 x 1Al 70,000
= 35,000
Al 35,000
OALIE ¢=2 D= 23 A Y
20,000,000 x 1Al 20,000
= 10,000
Al 10,000
EgEAg| A 2 (S4H 10,000 10,000 0
= 5,000
Al 5,000
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C HE =BT
HH: HIA
ool SHE= Y

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
206 M= Hl 10,000 10,000 0
= 5,000
Al 5,000
01 =8l 10,000 10,000 0
OFHNE 0ME da THE 10,000,000 «14] 10,000
= 5,000
Al 5,000
FHEH2Y 1,472,626 2,792,181 A 1,319,555
= 1,090,000
< 20,000
Al 362,626
Ol el (88X Mat 342,626 294,181 48,445
101 @124 dl 95,626 135,931 A 40,305
4 D12t Z2XREES 95,626 135,931 240,305
OblReld2s AREX JIZANIZRE S 95,626
2= 76,5003 x5 x186 71,145
s 76,500 x5 492 18,743
S22 76,5003 1. 5x5H 10 5,738
201 £B-2dH| 77,000 77,000 0
01 At 22l 3,000 3,000 0
Oflxel 23 ARES 7€ 300,000&*103 3,000
02 =224l 74,000 74,000 0
Ooflxel s 249 dJIe=s
50,000,000 » 14 50,000
OblRel d7s AIEZH "X
800,000& *303| 24,000
206 M= Hl 70,000 70,000 0
01 MHZ 8l 70,000 70,000 0
OblRel o=z W2
350,000& x20E 1001 & 70,000
207 A RO H| 30,000 0 30,000
03 A&l & 224l 30,000 0 30,000
OFfg== 0l7el 40 s AIg gNE
5,000,000& x63| 30,000
401 Al I 28I 30,000 0 30,000
01 A& HI 30,000 0 30,000
OS&t 0l Rel LA)|l= ASAEE =XZHE
S A 30,000,000& =14 2 30,000
405 RHoHF S HI 40,000 3,000 37,000
01 XL 2 EF S| 40,000 3,000 37,000
OoXdg g ddaEx ¢ 40,000,000 1CH 40,000
L8 QAT ZEAS 1,090,000 2,198,000 A 1,108,000
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AN sg€II=4dH
g dEXE
Sl =042 Y CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,090,000
403 MtXISHHSA=0l& 1,090,000 2,198,000 A 1,108,000
= 1,090,000
02 S 2SO0 HEAE R E AL H 1,090,000 2,198,000 A 1,108,000
OU AT =&AL
1,090,000, 000& 14 1,090,000
= 1,090,000
XS etE R A St 40,000 0 40,000
< 20,000
Al 20,000
201 ¢er24] 3,000 0 3,000
< 1,500
Al 1,500
01 At 22l 3,000 0 3,000
OXNYGeENALLS neE WM
10,000& 3005 3,000
< 1,500
Al 1,500
207 A O &l 30,000 0 30,000
< 15,000
Al 15,000
03 Al & 11HI 30,000 0 30,000
OZETH 07l e AIE HFME
5,000,000& *43| 20,000
< 10,000
Al 10,000
OBENR S=8 0RO EUA ASAE o7
M= 5,000,000& »23| 10,000
< 5,000
Al 5,000
301 LBEXZ 7,000 0 7,000
< 3,500
Al 3,500
09 HALAHIX A S 6,000 0 6,000
OXNYGeENALAS e & 319 FIIE4
8,000& x50 153 6,000
< 3,000
Al 3,000
12JEE 4= 1,000 0 1,000
OXNYGESENRA LS WE A2 A=
200,000& x53| 1,000
= 500
Al 500
HH2F A 211,470 204,060 7,410
Jl2dtl(sgll=dH) 211,470 204,060 7,410
Jl2ddl(sllsdH) 211,470 204,060 7,410
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SIS dH

Hu: @AY
o2 J2ddl(sgllsdd) (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 89, 160 78,800 10,360
01 AP 2t 2l Yl 13,560 13,800 A 240
Ogaazesd 60,0003 *2H %113 13,560
02 33249l 75,600 65,000 10,600
Osgllzs 332= %2 AA
6,300,000& =121 & 75,600
202 04| 107,050 110,000 N 2,950
01 2LHHI 56,050 59,000 N 2,950
Os&EXNE gF 56,050
02 EAHNYI 51,000 51,000 0
Os0lad AR M| 37,800
Ot CHZ &HLHS 300,000& *3H x12J4 & 10,800
ola 250,000& *1H x12J4 & 3,000
23 200,000& *1E x12J4 & 2,400
JEtS¥ S 150,000& x12H = 1201 & 21,600
O sIAHLUWAISE A M| 13,200
oI = A 250,000& *2H x12J4 & 6,000
et 8¥s 150, 000& x4 1200 & 7,200
203 € R =&lY| 15,260 15,260 0
01 J|2A2F PR =&Y 3,300 3,300 0
OsgIlsdegAH 3,300
02 d RN R =AY 2,480 2,480 0
OFIAINNMAR =AY 2,480
04 ENSIHRF=AY| 9,480 9,480 0
OFN2IIRF&Y| 9,480
sEAEN 5,280
=R PNEEIN 4,200
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